RETAM XFX RE#ESHE ASBE 04
1. RORXRZHNBELREX. (SH1530%, A2, B35 208, C#H545)

(1) (7Tx—9)% = 8z —5)(5z — 2) — (2z + 3)(2z — 3)

2) (a2 — b?)22 + (b% — a2)y?
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2. ROXZEREDHEX. (SHH15308, A2, B3 3208, C#s547)

(1) (52 + 9y)? — (3x — y)(3z + 5y) — 2(5x + y)(z — 2y)

(2) (a® — 1)a22 + y2 — a%y?
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RETAN XFX RSB ASMBE 04 BEHEH
1. RORXRZHNBELREX. (SH1530%, A2, B35 208, C#H545)

(1) (7Tx—9)% = 8z —5)(5z — 2) — (2z + 3)(2z — 3)

= 4922 — 1262 + 81 — (4022 — 162 — 25z + 10) — (422 — 9)
= 4922 — 1262 + 81 — (4022 — 412 + 10) — (422 — 9)

= 492% — 1262 + 81 — 4022 + 41z — 10 — 42% + 9

= 5z% — 85z + 80

= 5(x® — 17z + 16)

=5(x — 1)(z — 16)

(2) (a2 — b?)2? + (b% — a?)y?

= (a2 — b?)a? — (a2 — b?)y? —¥
= (@~ 1)(2 ~ )

= (a+b)(a—b)(z +y)(z—y)

Y% B—A=—-(A-B)
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2. XORXZHREOGMBEL. (SH1530%8, A2, B35 208, C#H545)

(1) (5z + 9y)? — (3x — y)(3z + 5y) — 2(5x + y)(z — 2y)

= 2522 + 90zy + 81y? — (922 + 15zy — 3zy — 5y%) — 2(52% — 102y + zy — 2y?)
= 2522 + 902y + 81y% — (922 + 122y — 5y?) — 2(522 — 9zy — 2y?)

= 2522 + 90zy + 81y? — 922 — 122y + 5y% — 1022 + 18zy + 4y

= 622 + 96y + 90y>

= 6(2? + 162y + 15y?%)

=6(z +y)(z + 15y)

(2) (a2 — 1)a? + 32 — a?y?

= (@ = 02+ (1- )y
= (a® —1)2% — (a®> — 1)y? “—v%
= (a® = 1)(z* —¢?)

=(a+1)(a-1(z+y)(z—y)

Y B-A=—(A-B)
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